

자연상수 e 의 정의

$$\therefore e = \lim_{t \rightarrow \infty} (1+t)^{\frac{1}{t}} = \lim_{t \rightarrow 0} (1 + \frac{1}{t})^t$$

- $f(x) = \ln x \rightarrow f'(x) = \frac{1}{x}$ 증명

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{\ln(x+h) - \ln x}{h} = \lim_{h \rightarrow 0} \frac{\ln(\frac{x+h}{x})}{h} = \lim_{h \rightarrow 0} \frac{1}{h} \ln(\frac{x+h}{x}) \\ &= \lim_{h \rightarrow 0} \ln(\frac{x+h}{x})^{\frac{1}{h}} = \lim_{h \rightarrow 0} \ln(\frac{x+h}{x})^{\frac{1}{x} \cdot \frac{x}{h}} = \lim_{h \rightarrow 0} \frac{1}{x} \ln(\frac{x+h}{x})^{\frac{x}{h}} = \frac{1}{x} \lim_{h \rightarrow 0} \ln(\frac{x+h}{x})^{\frac{x}{h}} \\ &= \frac{1}{x} \lim_{h \rightarrow 0} \ln(1 + \frac{h}{x})^{\frac{x}{h}} = \frac{1}{x} \ln e = \frac{1}{x} \end{aligned}$$

by <http://vense.net>

vense@naver.com